ERRATA

Localizacdo:

Onde se |é:

Devera ler-se:

Paginas 14,16 e 17

(cabegalhos das Ta- | 7 - F(A,B) Z=F(A,BC)
belas 2.7,2.9e2.11,
respetivamente)
0011100 0011100
Pagina 109 53 0110101, 53 0110101,
(Figura 4.19) + (-46) + 0101110, + (-46) - 0101110,
07 00000111, 07 00000111,
Onde se lé:

SINAL | EXPOENTE | MANTISSA |

1 | 10001001 | 00000111001010000000000 |
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(Tabela 4.5) Devera ler-se:

SINAL | EXPOENTE | MANTISSA |

0 | 10001001 | 00000111001010000000000 |
Pagina 162 o - . o -
(Exemplo, Fp = ABC + ABC + AB Fp = ABC + BC + AB

funcdo 5.16)
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(“Utilizando o
método direto,
obtém-se:”)

ABC + ABC + AB lar.ca= C+0+0
ABC + ABC + AB |, ,c,=0+C+0
ABC + ABC + AB lac0.ci=0+0+0
ABC + ABC + AB |, 5.co=0+0+1

ABC +BC + AB |, 15,=C+0+0
ABC +BC +AB|, ;5 ,=0+C+0
ABC +BC + AB|, g5,=0+0+0
ABC +BC + AB|,_45,=0+0+1




